Y T@M . REDUCER

FHENERESE] / GEAR BOX PERFORMANCE INFORMATION
4 21 50 142 285 582

1145 1650
5 25 66 176 335 600 1220 1700
7 21 54 145 310 540 1120 1500
1 8 21 50 142 285 582 1145 1650
10 25 66 176 335 600 1220 1700
P G F R (N I 14 24l 54 145 310 540 1120 1500
I ﬂ'] A 20 16 45 122 250 500 620 1250
EEMH ET2N  Nominal N.m 16 21 50 142 285 582 1145 1650
OQutput Torque ’ 20 21 50 142 285 582 1145 1650
25 25 66 176 335 600 1220 1700
35 25 66 176 335 600 1220 1700
2 40 21 50 142 285 582 1145 1650
50 25 66 176 335 600 1220 1700
70 25 66 176 335 600 1220 1500
80 21 50 142 285 582 1145 1650
100 25 66 176 335 600 620 1250
REHNET2NOT Nm 1. 2 4100 EEES H 14
Emergency Stop Torque : N (3.0 times of Nominal Output Torque)
il i i
&E@)\%ﬁm rpm o 2 4 ~100 5000 5000 5000 4000 3000 3000 2000
Nominal Input Speed
AN FeiEn 1max rpm 1, 2 4-100 10000 | 10000 | 10000 8000 6000 6000 4000
Max.Input Speed
BREEEEPO arcmin 1 4~10 =5 =5 =5 <5 =5 =5 =5
Ultraprecise Blacklash 2 16 ~ 100 =8 =8 =8 =8 =8 =8 =8
EEEEP1 . 1 4-~10 <7 =7 =7 =7 =7 =7 =7
Precise Blacklash 2 16 ~ 100 =10 =10 =10 =10 =10 =10 =10
triEE P2 arcmin 1 4-~10 <9 <9 <9 <9 =9 =9 =9
Standard Blacklash 2 16 ~ 100 =12 =12 =12 =12 =12 =12 =12
iﬂ%ﬁl}'ﬁ‘_‘{. . N'm, 12 4 ~100 6 11 30 84 150 435 1006
Torsional Rigidity /arcmin
= Py
mmkgﬂﬂﬁﬁMEKB N 1. 2 4 ~100 40 120 241 417 1320 3200 5900
ax.Radial Load
T‘nﬁm rﬂ f1F2aB N 1. 2 4 ~100 960 1800 2000 4550 6110 5300 10600
ax.Axial Load
b=}
S AmE ° G 1, 2 4~100 -10° C~+90° C
Operating Temp
ERHEw 20000
Service Life o L e (10000/iZE £ 15 %)
g > 1 4-~10 =95%
Efficiency ° 2 16 ~ 100 =92%
=82 K 1 4~10 1.0 1.6 3.5 7.8 15.0 45.5 68.7
Weight 9 2 16 ~ 100 1.3 2.2 4.8 9.5 19.1 40.8 72.6
RiEAME fEEARME
mounting Position 151 il Any direction
2 =
u"" E i dBA/1m 1. 2 3~100 63 63 68 70 70 72 75
Noise Level
| B P & 45
,;...,‘i Protection Class G 8 -100 165
E R e — £ & FE iR g i
Lubrication ) Synthetic Lubricant

R L w15 =

#M A& Specifications B {\Tunit [15 #Stagg i i bk Ratio | PGFR047|PGFR064| PGFR090| PGFR110| PGFR140|PGFR200|PGFR 255
4 0.18 1.66

0.67 717 24.92 58.30

4 5 0.17 0.65 1.50 6.52 23.42 53.30

Erp— 7 0.14 0.60 1.45 6.17 22.64 51.02
%?‘Etiﬂ kg.cm2 8/10/14/20 0.14 0.58 1.41 6.10 22.64 50.96
16/20/25 0.18 0.18 0.65 2.80 7.56 23.22

2 35/40 0.14 0.14 0.60 2.59 7.56 23.22

50/70/80/100 0.14 0.14 0.58 2.54 7.06 22.51




</, AGELLIY

SMEZRTEZR / OUTLINE DIMENSION SHEET

$MzRTEZ / OUTLINE DIMENSION SHEET

PGFR064-L1

c9

HtHEs/OUTPUT BN/ INPUT HitHiw/OUTPUT  ios ENiwm/ INPUT
= . ) 7.7 |L 3
ocr
7 3
o1 1
F
e J =
] ) o iitRIREEE EE
777777777777 = ﬁ EEEE | -
i EEEEN = H (=5
3 ! - - i |
| : L
! :
| .
i Bl
ok T | R S Y [ o]l
LO L
B [ o8 ‘ = 3 g
E 030, Cy
PGFR 047-L2 PGFR064-L2
HrHim/OUTPUT o EiNim/ INPUT i /OUTPUT 9 iR/ INPUT
4 _19.5
- i 1 |2
s -
+ =t
?Cc o e o o o 4
""""""""" il {saﬁg%‘ Fo-----=wm == 18 € g g &
g 1
2 — : &
1
1
_ | || L]
: +
l | 5 ) !
! T
— =~ U Lo 3
< 0305 - :
el 3 8

10.5 60

b 46 4-M4x12,4-M5x12 =8 37.5 & 30 11.5 115 116

$ 66.7 4-M4x12 =d8 32 $ 38.1 60 6 115 110.5

PO & 70 4-M4x10,4-M5x12 =14 32 50 60 6 115 110.5
75 4-M4x12,4-M5x12 =14 32 ¢ 60 66 6 118 110.5

b 46 4-M4x12,4-M5x12 =¢8 37.5 ¢ 30 10.5 60 11.5 142 116
¢ 66.7 4-M4x12 =¢8 32 $ 38.1 60 6 142 110.5

FRO64-L2

BSOS $70 4-M4x10,4-M5x12 = 14 32 ¢ 50 60 6 142 110.5
75 4-M4x12,4-M5x12 = $14 32 & 60 66 6 145 110.5

* Cl~C1O B HIREDIAIERR e RT AT iRiEE P E R .

* C1~C10are motor (metric standard) specific dimensions, which could be customised.

A @




</, AGELLIY

SMiZR~TEZ / OUTLINE DIMENSION SHEET SMizR~TEZ / OUTLINE DIMENSION SHEET
PGFR090-L1

c9

HitHiR/OUTPUT i a0 | N/ INPUT HitHim/OUTPUT €9 BiNIR/ INPUT
3| |10 6 o 8 _ 29
10f |10 6 ocr

~E 5
-
12 :
“ o = o |
___________ - A-d---F | 2 gl g = ] 4 494 N 4
! = £ s 1 *T"tTx*nr-—- - 0 -S»;A{DHt-W-JH@H-H-+ | || 0 gm,=-m—_—_———————- L =l =zl g 2] =
1 g 2 &l 3 = | HEE S
M = 1 == F =
> I
: = G =] ]
1 x| 1
I I
1 |
J

C4
ESSiE
O
w‘
-
C4

c3 o ..E..I w
C5s, cs,
PGFR090-L2
C9
HiHiE/OUTPUT 28 730 AL/ INPUT
i 8 10 6
B0 PGFR 110-L2
oc?
Rl HtHEE/OUTPUT & N/ INPUT
0 R 37 8 29
12
e TS q S o oo 10| (1O 6
T EntiisiREEEEE o
= ! b S
= 1
! { =
1 [=]
| [ { T___ H
: : : T 1 1 1 (¢ B o Bl £ ) el e B 4 () B & < e N L——gd4-4HE Sl S ; S S
@) < ] | Z gl g g =
1 =
ol 4|
8 e BI i
5y, T UL 1
1 : 1 =
i il IO =
1 — Z
cs : ' '
70 | 4-Max10,4-M5x12 | = 14 47 50 4 90 6.5 1585 | 1455 8 |3 | g
75 | 4-Max12,4-M5x12 | = ¢ 14 47 60 55 90 65 1585 | 1455 5,
$ 90 4-M5x15,4-M6x15 | = 19 47 570 7 90 75 158.5 1455
3984 | 4-M5x15,4-M6x15 | =414 | 475 $73 7 90 75 1585 | 1455
PGFRO90-L1[ 4100 4_M6x15 =419 | 475 80 7 90 125 1585 | 1455
115 4-M8x20 = 424 59 $95 10 100 125 1635 | 157.5
R~ C3 c4 C5 C6 c7 c8 co c10
2—M8x20 = d24 59 $110 10 130 12.5 178.5 157.5 £ D T e 08 R M B ) = e > 09 83
0145 = : : : 100 4_M6x15 =19 62 80 7 115 12 200 183
LAk — s L o110 Al L.l A U PGFR110-L1[_ 115 4-M8x20 < y24 62 95 10 115 13 200 183
©70 4-m4x10,4-m5x12 imm 32 450 5 60 6 1535 | 1225 T PR = 0 N = =5 = e e
®75 | 4-M4x12,4-Mbx12 — ik, 32 ¢ 60 2 66 N 1565 | 1225 ©145 4-M8x20 = o4 71 ©110 10 130 13 207.5 192
00 j_m5x15'3_m2x1 9 | Sal 447 Gl L gg S 12: 115'5 $90 4-M5x15,4-M6x15 | = 019 a7 $70 7 90 75 206.5 158
—— ©98.4 | 4- 54" 523 - x15 =2 ik 4;-: ¢73 ; - 172-55 = 14:-: 100 4-M6x15 =419 47 80 7 90 75 206.5 158
& Eal00 =Lh.F = i : L ' - z PGFR110-L2| 115 4-MBx20 < 24 59 95 10 115 125 219 170
¢ 115 4-M8x20 e 95 10 109 12.5 19 157.5 145 4-M8x20 =424 | 59 5110 10 130 125 | 2265 170
#1130 (=N =024 g 95 10 il 2 U (575 145 4-M8x20 = ¢ 24 68 $110 10 130 215 2265 179
145 4-M8x20 = 424 59 110 10 130 125 212 157.5
145 4-M8x20 =324 68 110 10 130 215 212 166.5
* C1~C10 2NFIMREDIAER R R, B E P EREIREM, * C1~C10 20 HRREDIAES R R TREEP EREIREMH.
* C1~C10are motor (metric standard) specific dimensions, which could be customised. * Cl~C10are motor (metric standard) specific dimensions, which could be customised.

A @




</, AGELLIY

SMEZRTEZ / OUTLINE DIMENSION SHEET

SMiZRTEZR / OUTLINE DIMENSION SHEET

HHiER/OUTPUT o
1250
15} |15 8
RE
16
E I I
Fo======= -l =l 2] g 2| §
I Sl gl g 5 ¢
1
5 i
T =
1 : 1 I
| R | | B
LI | (]
[
— 1,0
P c3 ©
(&) o
C5p
PGFR 200-L2
HitHim/OUTPUT
9
79.5 12 50
15[ |15 8
n
B E
= ®
16
A SR R R
) : = = =
I
I
N =
M ] |
|l IR I
=g -
c3 ,DI
(& =

S

e e e s | os | cr | ce |
118 30 10 180 16.5

IR/ INPUT

N/ INPUT

oo |~ cio |

I Hiw/OUTPUT 9 NI/ INPUT
10_ 38
il [ ) (wi
RE
———————————— -1 ‘EEEE
! =
1
i
1
e L1
[ 1 J
T T .
T (&)
|_:_ |O
iro oz ey
3 @I
C5pg =
PGFR 140-L2
HHis/OUTPUT - N/ INPUT
59 10 _ 38
30° .
08, 1RT = 5 -
TN s 11-M8iE17
/’ \ ! 7/ Y “
A ST . @80 0 AE kS
i @ @ W 12-06.6 L2 I I I
@ LA o) 14F e RRRiRIEEE EE
\ I . = .
" @ ® o168 2 ! ~
\ = % = / S &)
\ ’ @ \ 7 : C E[
AR & | X = |
\®’\ :@’ [
-—d--= N -
1 1 |O o
: 0. Ly
' a s ml
(&) o
Chy
I I I T I I 2 N A T
¢ 145 4-MBx20 = $28 81 110 10 142 19.5 256 226
PGER140-L1 & 165 |[4-M10x25, 4-M12x35] < 32 81 $ 130 10 142 19.5 256 226
¢ 200 4-M12x35 = p42 83 $114.3 8 180 21.5 275 228
$ 200 4-M12x35 = $42 115 $114.3 8 180 535 275 260
¢ 145 4-MBx25 <= 24 62 3110 10 142 13 271.5 198.5
FESRIS0E & 165 4-M10x30 < $28 62 $ 130 10 142 13 271.5 198.5

* Cl~C102ARHREDIAERR e R AIRESE P E R E M.

* C1l~C10are motor (metric standard) specific dimensions, which could be customised,

A w

$ 165 |4-M10x25, 4-M12x35| = ¢ 32 $1 306.5 291.5
$ 200 4-M12x35 = 42 118 $114.3 10 180 16.5 306.5 291.5
PGFR 200-L1
$ 215 4-M14x35 = 42 118 $ 180 10 190 16.5 311.5 291.5
$ 235 |4-M10x30, 4-M14x35| = ¢ 55 150 $ 200 10 220 48.5 326.5 323.5
$ 130 4-M8x20 = $24 81 $ 110 10 142 19.5 346 254
$ 145 4-M8x20 = h24 81 $ 110 10 142 19.5 346 254
PGFR 200-L2 $ 165 |4-M10x25, 4-M12x35| = ¢ 32 81 $ 130 10 142 19.5 346 254
$ 200 4-M12x35 = $42 83 $114.3 8 180 21.5 365 256
$ 200 |4-M10x25, 4-M12x35| < 42 115 $114.3 8 180 53.5 365 288
$215 4-M14x35 = $42 83 $ 180 8 190 21.5 370 256

* CL~C10 BB EDIAERR < R AIRIEE P E R i,

* C1~C10are motor (metric standard) specific dimensions, which could be customised.




